Algebra I Practice A.REL.D.10: Writing Linear Equations 1

WWW.jmap.org

1.

Find an equation of the line passing through
the point (2, 7) with slope m= 6.

[A]y = 6x — 5 [B] y = 6x — 40

1 20 1 5
Cly=-x-=— [Dly=-x->
[C]y 5 3 [D] y 5 6

Find an equation of the line passing through

the point (-5, 3) with slope m= 2.

1 13 1 11
—X+ = Bl]y= —x- —
2 2 By 2 2

[D] y = 2x + 13

[Al'y =

[C] y = 2x — 11

Find an equation of the line passing through
the point (-6, 5) with slope m= 5.

[A] ¥y = 5x — 31 [B] v = 5x + 35

1 31
C =_X__
€1y =1

s [Ply

=lx+7
5

Find an equation of the line passing through
the point (7, 6) with slope m= 2.

1

[A] y = 2x =5 [B]yzzx—4

Cly = 2x- 2

D] y =2x -8
> 5 Ply

NAME:

5. Find an equation of the line passing through
the point (4, 3) with slope m= 3.

_ oAy _ .5
[Aly=3x-9 [Bly= x-3
[C]y=3x~-5 [D]y=%x—3

6. Write an equation of the line that passes
through the point (3, 5) with slope —4.

[A] Yy = —4x+17 [B] y = 4x+17
[C] y = —4x+5 [D] y = 4x+5

7. Write an equation of the line that passes
through the point (-2, 4) with slope 1.

[A] ¥ = x+4 [B] y = —x+4

[C] ¥y = X+6 [D] y = —x+6

8. Write an equation of the line that passes
through the point (-5, —6) with slope 3.

[A] ¥ = 3x—-6 [B] vy = 3x+9
[C] y = -3x+9 [D] y = —3x-6

9. Write an equation of the line that passes
through the point (6, 2) with slope 3.

[A] Yy = —-3x+2 [B] y = —-3x-16
[C] ¥ = 3x-16 [D] y = 3x+2
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10.

11.

12.

13.

14.

Write an equation of the line that passes
through the point (4, —1) with slope 2.

[A] y = —-2x-1 [B] v = 2x-1
[C] y = —2x+7 [D] y = 2x+7

Write an equation of the line that passes
through the point (-1, —3) with slope 2.

[A] y = -2x-3 [B] y = 2x-3
[C] y = —2x-1 [D] vy = 2x-1

Which equation is correct for a line through
(5, —3) with slope 0.75?

3 27 3 4
Al y=-x - =~ B] y="x - —
[]y4 2 []y4 i

3 3 27
C] y=-x-3 D] y=—-x+2L
€1 y=7 D] y=-7x+7

34
E] y=—2X +—~
[E] ¥y TR

Write an equation of the line with slope 7 and
y-intercept —9.

Write an equation of the line with slope 1 and
y-intercept —18.

15.

16.

17.

18.

19.

20.

NAME:

Find the equation of the line, in slope-
intercept form, that passes through the point
(=3, 2) and has slope 3.

Find the equation of the line, in slope-
intercept form, that passes through the point
(=1, 2) and has slope —4.

Find the equation of the line, in slope-
intercept form, that passes through the point
(=3, 5) and has slope 2.

Find the equation of the line, in slope-
intercept form, that passes through the point
(=1, —4) and has slope —1.

Find the equation of the line, in slope-
intercept form, that passes through the point
(=2, 4) and has slope 4.

Find the equation of the line, in slope-
intercept form, that passes through the point
(5, 3) and has slope 5.
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y="7x-9

y=x-18

y = 3x+11

y = —4x-2

y = 2x+11
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